Daffynition Decoder

®IFms1 = 48° THEN m23 =
QIFms1 = 48°, THEN mz4 =
O IFms6 = 40°, THEN mz5 =
®IFms7 = 54°, THEN mz8 =
D IFms7 = 59°, THEN ms6 =
O IF ms5 = 57°, THEN mz8 =

@ IFms3 = 50°, THEN m,9 =
®IFms12 = 120°, THEN m .3 = 7
®IFm.7 = 55° AND m29 = 45° THEN ms15 =
® (Fm.3 = 46° AND m214 = 99° THEN m. g —
®WIFms9 = 29° AND m, 15 — 85°, THEN m/7 =
®1Fm.8 = 37° AND m23 = 38>, THEN m/ 14 =
@ IF ms7 = 40° AND mz 15 = 90°, THEN m£12 =
©IF m.3 = 35° AND m£16 = 90°, THEN m =
® IF m8 = 40° AND mz12 — 140°, THEN m/ 15 =
©@IFms7 =55 AND mzq = 50°, THEN m~ 16 =
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